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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration
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o/p vs. Iteration (E1, E2 > 500 MeV) o/p vs. lteration (E1, E2 > 700 MeV)
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3Mass Spectum for final iteration (E1

E2 > 500 MeV)

x10 Entries 1.207864e+08
M X2 / ndf 1.131e+04 / 165
» Prob 0
F e — 0 0 6.929e+05
__Flt o/p =5.757 £0.009 % gl 0,135
- p2 0.007785
r p3 2.582e+05
- p4 0.01511
o p5 -1.207e+07
B p6 4.161e+06
L p7 -8.266e+04

Z/'I/’—IIIII
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]

3Mass Spectum for final iteration (E1

E2 > 900 MeV)
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3Mass Spectum for final iteration (E1, E2 > 700 MeV)
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Mass Spectum for final iteration (E1, E2 > 1100 MeV)
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Current iteration (Blue), last iteration (Green), and current ccdb constants (Red) Current iteration (B|Ue) and current ccdb constants (Red)

x10
EO.OS: 50F Entries 1536
80.06F 8
2 F 40k
o0.04 C
Oo 02f -
Lov.Var- r
8 c 30
(&) 0: r
©0.02F 201~
o r r
=0.04F C
5 : 10
<0.061- C
:008:||||||||||||||||||||||||||||||||| O_m||||||||||||l | PN T L T T TENPENS . TAArE B ATETEEE EPEEr
‘s 0 200 400 600 800 1000 1200 1400 1600 0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1_3
O x10
Current iteration[i] - last iteration[i] gain constants Current iteration[i] - current ccdbli] gain constants
1000:— Entries 1536 9005_ Entries 1536
800 800"
C 700F
600 600
X 500F-
400F 400E
C 300F
200 200F
X 100F
C. v e ey E. v ey
—8.06 -0.04 -0.02 0 0.02 0.04 0.063 —8.06 -0.04 -0.02 0 0.02 0.04 0.063
x10" x10"



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


